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Abstract

The concept of the collection is one of the main concepts of the mathematical technique of this tariff will
be given to the concept of the theory of bundles at the same time a comprehensive fandir. Then continue
in higher education school mathematics concepts in the course about the package initially. Stopped to
detail in this article on the packages and their activities. Packages on their actions, some are entered in
the properties of the package.
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Introduction

Almost all the concepts of the theory of bundlessteep the application of science on the basis of lies. The
collection that lies in the foundation of mathematics, he described to be one of the primary concepts are
you will receive. When it is said is understood to be complex objects that have in common a feature on
any package. For example, students can I set the cut-in point set, natural bundles, the number of
employees of the firm package in the directory of the product produced collection etc. Mathematical
packages A,B,C,D,...are marked with letters like home. A B,C,D,... access to the collection are

called elements and their generally small objects, respectively, &,0,C,d,... is determined by like letters.

This, “ a a collection of the elements belongs to (not appropriate)” check that a € 4 (a ¢ A) writing is
like.

Also any elements is called the empty set and the set J is defined as. For example, {withx = 2 solutions
of the equation} =, {kvadratga is the perimeter of a is 0}=J, {kvadrati negative real numbers } =
How does it do the task number 0 in algebra, in theory packages ¢ package performs a similar function.

Each respective package for you of a different element B belongs to a package, (a eA=ae B), then

A the package B is called the part of the package and A < B (or B> A) is determined.

For example, at the enterprise manufactured with high-grade collection of products A, all products,
while the collection B that beneficially, it Ac B is.

From the definition optional A for the package 4c 4 and Jc A come be reasonable approval.
Therefore, the package for — the number of signs for < similar to character has a meaning.

If a and b packages for A B v andcconditions is carried out at a time, this is called the equal of a
package and a=V as written.
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For example, A= {—1;1} and B = {X2 —1=0 the roots of the equation}, C = {works of art used to write

letters} and D={letters in alfavit} for the package A=8, C=D of.

Actions on bundles and their properties. In algebra a and b number of breeding activities is included
in the add on and if they
a+b=Db+a and ab=Dba (let kommutativ, that is, the replacement of the place),

a+(b+c)=(a+b)+cvaa(bc)=(ab)c (letassotsiativ, that is guruhlash),

a(b+c)=ab +ac (ie. the distribution distributiv)

shall be subject to the law. Apart from these, any a number a+0=a and a-0=0 equally as well as is
also appropriate. Now updated and expanded actions will put on the package.

A and B the association of the package (sum) so that C Iin the package it, A and B is composed of
elements that belong to at least one of the package 4 U B is determined.

For example, 4=1{1,2,3,4,5} and B={2,4,6,8} is 4UB={1,2,3,4,56,8}, C = {I-grade products} and
d={ii-grade products}, then C\UD = {I or ii-grade products} package represents.

Packages combining the practice of adding the number to the practice of, as
AUB =BUA (let kommutativ), (AUB)UC=A4U(BUC) (assotsiativ let) is subject to the law of.
Besides AU = A, from the number and, unlike AUA=A B c 4 aub=a s also appropriate as well as

equal. All this equality is proved using the definition of confirmation of your package. As an example,
we will prove the last equality:

XxeAUB=xeA or XeB:>XeA:>(AuB)CA;
xe A= xe AUB= Ac(AUB)
Therefore, (AUB)<= A, Ac(AUB) and according to the definition AUB= A

Multiple 4,, 4,, 4;, ..., A, packages ofthesum A UA UA U..UA = U A is determined as the set
k=1

of elements that belong to at least one of them is determined.
A and B across the package (in multiples) so that C I in the package, the package consisting of
elements a and b, both of which are relevant to it and also 4~ B is determined.

For example, 4={1,2,3,4,5} and B={2,4,6,8} is AnB={2,4}, C ={Verified products} and d={quality

products}, then C "D = {Check quality products that found in} represents a collection.
The law of practice across packages is subject to the following:
ANB =BNA (let kommutativ), (ANB)NC=AN(BNC) (assotsiativ let),

ANn(BUC)=(ANB)U(ANC), Au(BNC)=(AUB)N(AUC) (let distributiv)
At the same time ANA=A AN =D and B< 4 if AnB=B equal as well, is also appropriate. This

is appropriate in the method shown above, you can make sure that your approval.

20|Page



NOVATEUR PUBLICATIONS

JournalNX- A Multidisciplinary Peer Reviewed Journal
ISSN No: 2581 - 4230

VOLUME 10, ISSUE 6, June - 2024

Multiple A4, 4,, 4,,..., 4, packages of across 4 N4, ﬂ---ﬁA,FﬂAk and is determined as all

k=1
A (k=1,2,...,n) the relevant packages are available, as determined from the elements of the general

collection.
A and B ayirma package that A belongs to a package, but the B package and the package consists of
elements which do not belong to them it is said 4\ B , shall be defined as.

For example, if 4={1,2,3,4,5} and B={1,3,7,9} , then 4\B={2,4,5}, B\A={7,9}; C={products

produced in enterprises}and D ={quality products} if C\D= {directory produced poor quality
products}.

Therefore, A\B the package, A the package B is formed from elements which do not belong to a
package. For ayirma package A\A=0, A\U=A O\A=0, and AcB if A\B= the proper
relationship.

All packages any package as part of the package you people if you can look w, then Q the set is called

universal. For example, for all packages associated with the number of Q= (-, ), man consists of the

collection of QQ ={all people} is the universal set.

You A package the Q universal part of the package, then the Q\ 4 package A and the package is called
the complement C(A) is determined. In the following graph you Q in the framework of the universal
package, A the package consists of the point located within the net of rectangular him if its complement
of C(a) 1- crossed out from the area will be consisting of in the picture:

7z

A C(A)
%///////////////////

Therefore, c(A) the collection A consists of an element into the collection, that is,
xe A= x¢C(A), x¢ A= xeC(A). for example, Q ={all enterprises}, A={Plan fulfilled enterprises},

then c(A)={ he did not do businesses Plan} is setQ={1,2,3, ...,n, ...} — of bundles natural number,
A={2,4,6, ..., 2n,..}— the number of pairs pack B={5,6,7, ...,n, ..} — 4 from the number of big
natural bundles, then C(A)={13,5, ..., 2n—1,...} — an odd number C(B)={1,2,3,4} -5 represents the

number of small bundles natural.
A and B as multiples of dekart packages Ax B , as determined and (X,Y) (X€ A, y € B) configured

the new package from the pair is said to wholesale blind.
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For

example, 4=[0,2] and B=[01] the 4xB package is in the plane of the

(x,y) (xe 4=[0,2],y e B=[0,1]) point, that is, the ends M, (0,0), M,(0,1), M,(2,1) and M,(2,0) the

points located on from a rectangle will consist of (2-see picture below):

M;

My

2-picture

If C={experienced workers} and D={young workers} then, if CxD it is different from working with

experienced and young, “teacher-student” represents a pair consisting of a collection. In general,

multiples of dekart for packages Ax B # Bx A, that are not available to fulfill the law kommutativ. For

example, 4=[0,2] b=[0,1] package for 4x B the basis of length 2, 1 which is the height of the right

frame, Bx 4 while based on the length of 1, which is on it represents a frame height 2 4x Bx Bx 4 in.
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